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@ -3+8 @ -5-7 @D -9+4 @ -6-3
=5 =-12 =5 =-9
@ (-4) x(-9) @ -42+6 @ -5x6 @ (-36)+(—4)
=36 =-7 =-30 =9
© -6xy x4x ©® 54ab +9a © (~7ab) x (—4b) ® 561y +(-7y)
= —24x2y =6b =28ab? =-8x
@ 4(5a - 3b) (152 -6y) = (=3) @ -3(7x-2y) (20a +8b) + 4
=20a - 12b =-3x+2y =2lx+6y =ba+2b
© 6x-3y+2x+5y 3Bx-y) - 2(x+3y) © 7x-3y+4x-2y 42x-y) - 3(x-2y)
=6x+2x—-3y+5y =9x-3y—-2x -6y =7x+4x-3y -2y =8x—-4y—-3x+6y
=8x+2y =9x-2x-3y -6y =1lx-5y =8x—-3x—4y +6y
=7x-9y =b5x+2y
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D5-7 @ -6-4
=-25 =-10
@ (-4)x(-6) @ -18+6
=24 =-3
B 3xy x (-8y) ® 424° +6a
:—2412/2 =7a
@ 6(5a —2b) 28z +4y) + (—4)
=30a - 12b =-7x-y

© 1lx-5y-3x-2y

=1lx-3x-5y-2y
=8x-7y

5@x-y) -2(3x—4y)

=10x-5y—6x+8y
=10x—-6x—5y +8y
=4x+3y
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@ -11+4 @ —4-5

=-7 =-9
@ -8x9 @ (-63)+(-7)

=-72 =9
©® (-6ab) x (-5a) ©® 48y+(-ty)

=30a’b =-8
@ -5(3x-y) (2la-9b)+3

=-15x+5y =7a-3b

© 9x+3y—4x-5y

=9x—4x+3y -5y
=b5x-2y
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3(dx-y) -2(5x - 2y)

=12x-3y—-10x+4y
=12x-10x-3y +4y
=2x+y
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D -5+11 @ -6-2
=6 =8
@ (-6)x(-8) @ -25+5
=48 =-5
® —4xyx9x ® 42ab+7a
= -362%y =6b
@D 3(da-b) (32x—8y) + (-8)
=12a-3b =—4x+y

|ETUU~ & & #8 B
F2FROHE) %] 6 B

@D -11+5 @ —4-3

=—6 =-7
@ -6x9 @ (=21)+(-7)

=-54 =3
© (-8ab) x (—4b) © 277y + (-3y)

=32ab? =-7x
@ -4(7x-3y) (35a +10b) +5

=-28x+12y =7a+2b

© 7x-8y+bx+2y

=7x+5x—-8y+2y
=12x-6y

3(4x - 3y) —2(bx +2y)

=12x-9y-10x—4y
=12x-10x-9y -4y
=2x—-13y

© 6x—4y+5x-3y

=6x+bxr—4y -3y
=11x-7y

4(3x—2y) -3@2x - 5y)

=12x—-8y—-6x+15y
=12x—-6x—8y +15y
=6x+9y

< g B B>

< 5 B 8>




